Pattern English

Book 1

8 Pattern English 1

pattern english 1_1.jpg
(1190 X 1683)



Pattern 1

How about having dinner tonight?

25 % NMY Zo| st=A oma?

Dialogue

A : Do you have an appointment tonight?
s U AL A0?

B : No,ldon't.
X=2 gi=Hl.

A : How about having dinner tonight?
2= 'Y XY #Zo| HeA ofiu?

B : Good idea.
E242o|o}.

P1-01 How about another beer?
2 SO o2

P1-02 How about this one?
0|2 ofuj2?

How about going to the movies?
datao 7t= A ojuja?

How about a cup of coffee?

#u ezt o ?

1. A1 8t o | L7}

—_

2. AP3EE 7HX) pbEE?

. 2A20ua?

4. L0 7t=d ofmy?
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Pattern 2

| think that is better.

L 4 Ztofl= MZA0| Liot Eo|=A Zot8.

A : Which of these computers should | buy?
0|50l of'H AFEIE AtoF2na?
B : |think that is better.
L ‘dZtofl= M A0 Lo 20|=Z #otL.
A: Why?
ol ?
B : Itis new and best selling.
MEo|ng HEH.

m | think you are wrong.
L ‘42tol= S4lo] E2IA Zotg.
m | think he wants to help the poor.
L ‘8 2bol= a7t 7hetet AR S EQFDH07I=A Zola.
m | think there's rain coming on.
L ‘8 2}o= BI7I EX Zot1.
m | think she is really beautiful.
L 42bol= 21471 Y2 o 2k 243 Q.

1. 2742 27ksst A=l A #Zorg.

o

2. 4| o] =2 ot
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Pattern 3

How do you like your steak cooked?

2HO|3E O EAH =AM

Dialogue

A : How do you like you steak cooked?
AHO|3E O{2A SHEANL?
B : Medium-rare please.
SUEE YFH .
A : How about her steak?
aue| 2 0|3 o EA HEZE?
B : Well-done please.
25| o5 FM 2.

How do you like my design?

Ll CIxtelo| ofug?

How do you like this house?

o| & ofHM| a2

How do you like your new job?
M % ojmie?

How do you like it in Korea?
SN KL= ol R?

1. A4 S o{BH EaANK?

2.0| MX o{IjQ?

3. X+ o EA E-EMKR?

4. M atA ojjR?
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Pattern 4

| should have come earlier.

Lt= o 'gal ghofof A =Hl8.

A : | should have come earlier.
Lhe o a| gtofof Y6 K.
B : It's alright. What made you late?
HEorr. FA W20 A2
A : The traffic jam is heavy because of the snow.
= HZol REXS0| HHola.
B : That can happen.
a3 = AX 8.

| should have studied harder.

O s 3534 0{0F =0l

| should have done this.

o] &= &ojof AH=Hl.

| should have taken care of him.

aE i S3ofof =Hl.

P4-04 | should have been more considerate.
L= 340 CHsiM & o 2SsHoF A =H.

1. U7 E O Y% o)A S $0{0f #=o.

2.7 et 2 G| 2|2 ZXo{OF o 8.

3. 24 S S5 HO{oF =

4. 9112 H3}= glojof 3t =0.
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